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7 100kN/m%E#8z5 | 1.00 | 000 ~ 1.23| 11858 |3mx#8z3| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1069 ~ 1450 11858 |3mEBZ% - ~ — — —
s 1.00 | 1.23 ~ 9.01 100.00 | #nlst | 0.00 ~ 9.01| 228 11.52 st 1.00 | 6.00 ~ 1069 100.00 | =nst | 6.00 ~ 1450| 2.28 11.52
2 100kN/m%E#8z5 | 1.00 | 000 ~ 1.32| 11999 |3mx#z3| — ~ — — — | 100kN/m%E#8Z25 | 1.00 | 1082 ~ 1500 119.99 |3mE#BZ% - ~ — — —
s 1.00 | 1.32 ~ 9.10 100.00 | =St | 0.00 ~ 9.10 | 2.51 12.69 st 1.00 | 6.00 ~ 1082 100.00 | =hst | .00 ~ 1500 2.561 12.69
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 755 96.58 | #nLS | 0.00 ~ 7.55| 1.98 10.00 st 1.00 | .00 ~ 1100 96.58 | =nLS | 5,00 ~ 11.00| 1.98 10.00
4 100kN/mM#E#B25 | 1.00 | 000 ~ 0.10 101.48 [3mZz#BZBH| — ~ — — — | 100kN/ %8825 | 1.00 | 10.72 ~ 11.00| 10148 |3m%E#Z5 - ~ — — —
s 1.00 010 ~ 789 100.00 | #nst | 000 ~ 789 | 2.10 10.60 st 1.00 | 6.00 ~ 1072 100.00 | =nst | 6.00 ~ 1100)| 2.10 10.60
5 100kN/ M=% | 1.00|0.00 ~ 0.09 101.35 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10.76 ~ 11.00| 10135 |3m%E#Z5 - ~ — — —
s 1.00 | 009 ~ 788 100.00 | #nst | 0.00 ~ 788 | 2.30 11.61 st 1.00 | .00 ~ 1076 100.00 | =nst | 5.00 ~ 1100| 2.30 11.61
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 665 83.94 | #nRS | 000 ~ 0.00| 1.75 8.86 st 1.00 | 6.00 ~ 8.00 83.94 | =hLS | 5,00 ~ 800\ 1.756 8.86
- 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.52 56.40 | =hs | 000 ~ 000 1.67 7.91 st 1.00 | 6.00 ~ 5.00 56.40 | =h4 | 5.00 ~ 56.00| 1.567 7.91
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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